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Siz questions may be answered.
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1. («) If (a++b)? = 4a%ab, (b-}+¢)? = 4y2e,and (¢c+a)*=42%aq,
prove that z®--y* Lg% — 1 & 25y2.

(b) Factorise 6x® — day — 6y* - Tw + 22y — 20.

2. Solve the equations :

(i) \-'T-—.-)_‘. +x?— \'.’III +a-fat = a.

(ii) z+y+z=1

22 fy? 22 =21

wyz =8

3. (i) Find the sum of the squares of the first » natural
numbers.

e Tme . . wgow .
(ii) Find the nth term of a series whose initial terms are the
game as 1, 2, 4, 7, 11, 16, 22 . . . and sum your series to

terms.

4. Find the term independent of @ in the expansion of

(1 -m)® X {§ =i LE
n

.
If (14-a) =c¢p+ey T+, 2+ ¢, a", prove that
29 )!
(2n)
€2 e e + +6t= ——
! n




]
5. Calculate to four significant figures the real root of the
equation 2% — 52?2 |- 92 — 8 — (),

6. Find the co-ordinates of the points dividing in a given
ratio the line joining two given points.

A straight line is such that its intercept between the #
and y axes is divided in the ratio m : » at a given point (a4, b) ;
find the equation of the line.

7. Derive an expression for the length of the perpendicular
from the point (z,,) to the line Az 4 By 4 C = 0.
Determine, without drawing a figure, whether the points
(— 8, 10) and (0, 0) are on the same or on opposite sides of the
line 13z — 16y + 208 = 0. Similarly show whether the point
(—8, 10) lies within or without the circle
&2y 24-102—14y 58 = (.

8. (¥, y1) and (z,, y,) are the extremities of the diameter of
a circle.  Obtain equations to the straight lines joining each of
these points to the point (&, %) on the circle and show that the
equation to the circle is (2—a,) (2—wy) + (—uyy) (y—ys) = 02

Find the equation of the circle having as diameter the chord
intercepted on the line x--3y— 35 by the circle 2?4 y2= 125,

9. Define a parabola and obtain its equation in the form
y? = daw.

From a point P (at?, 2af) on the parabola = 4ax a normal
is drawn intersecting the 2- axis in . Show that the mid-point
of PQ describes a parabola as P moves on y2 = dag.




